5.3 Solving Trig Equations Practice Worksheet #1
Pre-calculus '

Solve for the unknown variable on the interval 0 < x <27t .
1. 4cos*x -3=0 2. \/_2'sin2x=1
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3. 3cot’x-1=0
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Solve for the unknown variable on the given interval.

9. 4/3 + tan(2x) = 0 on [0,277).
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10. cos(mx) = 0.5 on [O,Zar).

11. sin(%) -1=0 or; [0;@;1).
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5.3 Solving Trig Equations — Worksheet #2 Name:

Pre-calculus Date: Block: -
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Part 1: Solve for the unknown variable. Give all of the exact general solutions.
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1. sinfl =— 2. cosf =sinf 3. tanf =1
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10. tan46 = -1 11. tan’3x =3 12. cosE=—\£;
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